












���



���



�
�
�
�
�
�
�
	



���



���



�
�
�
�
�
�

���



����



�
�
�
�
�
�

����



����



- 1 - ����



- 2 - ����



- 3 - ����



����



- 8 -����



����



����



����



����



����



�
�
�
�
�
�





����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



2

����



����



����



����



����



����



����



����



����



����



3 3

60

����



����



����



����



����



����



����



����



����



����



����



1

����



����



����



����



2

����



����



����



3

����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



= + +

i y

ownhouse

�����



X u

Pr[ = 1] = Pr[ > 0] = Pr[ > ]

= ( + + )

y

= + + +

year

t

[ = 1] = [ > 0]

= [ > ] = ( + + )

Chamberlain(1980)

L = Pr( , | )

�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



’

“

”

�����



�����



�����



�����



�����



�����



40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

%

0

10

20

30

40

50

60

59 60 61 62 63 64 65 66 67 68 69 70

%

0

5

10

15

20

25

30

59 60 61 62 63 64 65 66 67 68 69 70

%

0

2

4

6

8

10

12

14

59 60 61 62 63 64 65 66 67 68 69 70

%

0

2

4

6

8

10

12

14

16

59 60 61 62 63 64 65 66 67 68 69 70

%

0

5

10

15

20

25

30

35

40

45

59 60 61 62 63 64 65 66 67 68 69 70

%

�����



0.0

2.0

4.0

6.0

8.0

10.0

12.0

14.0

16.0

%

0.0

0.5

1.0

1.5

2.0

2.5

3.0

%

0.0

1.0

2.0

3.0

4.0

5.0

6.0

%

0.0

0.5

1.0

1.5

2.0

2.5

3.0

%

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

%

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

2.0

%

0.0

0.5

1.0

1.5

2.0

2.5

%

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

%

�����



�����



40

50

60

70

80

90

100

110

59 60 61 62 63 64 65 66 67 68 69 70

%

0

20

40

60

80

100

120

59 60 61 62 63 64 65 66 67 68 69 70

%

0

5

10

15

20

25

30

35

40

59 60 61 62 63 64 65 66 67 68 69 70

%

0

2

4

6

8

10

12

14

16

18

59 60 61 62 63 64 65 66 67 68 69 70

%

0

2

4

6

8

10

12

14

16

18

59 60 61 62 63 64 65 66 67 68 69 70

%

0

10

20

30

40

50

60

59 60 61 62 63 64 65 66 67 68 69 70

%

�����



�����



0.0

0.5

1.0

1.5

2.0

2.5

3.0

3.5

4.0

4.5

0.0

0.5

1.0

1.5

2.0

2.5

3.0

0.0
0.5
1.0
1.5
2.0
2.5
3.0
3.5
4.0

0.0

10.0

20.0

30.0

40.0

50.0

60.0
% %

%

%

�����



�����



0

10

20

30

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

0

10

20

30

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

0

10

20

30

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

0

10

20

30

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

�����



40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

40

50

60

70

80

90

100

59 60 61 62 63 64 65 66 67 68 69 70

59

�����



0.0

10.0

20.0

30.0

40.0

50.0

60.0

70.0

60 61 62 63 64 65 66 67 68 69

59

N=3,170 N=838 N=2,548

%

0.0

10.0

20.0

30.0

40.0

50.0

60.0

60 61 62 63 64 65 66 67 68 69

59

N=1,777 N=470 N=1,475

%

�����



0.0

10.0

20.0

30.0

40.0

50.0

60.0

60 61 62 63 64 65 66 67 68 69 70

60

60
N=566 N=109

%

0.0

10.0

20.0

30.0

40.0

50.0

60 61 62 63 64 65 66 67 68 69 70

62

62
N=123 N=35

%

0.0

10.0

20.0

30.0

40.0

50.0

60.0

60 61 62 63 64 65 66 67 68 69 70

63

63
N=96 N=50

%

0.0

10.0

20.0

30.0

40.0

50.0

60.0

70.0

60 61 62 63 64 65 66 67 68 69 70

65

65
N=157 N=32

%

�����



0 10 20 30 40 50 60 70 80

N=1,461

N=414

N=938

N=655

N=215

N=436

61
64

0 5 10 15 20 25

61
64

0 2 4 6 8 10

% %

%
0 2 4 6 8 10

61 64

61 64

61 64

%

�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�����



�
�
�
�
�
�

�����



�����


